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L IKI-T(I—:;_]_ 3)ls€qualto SBG STUDY
(A)-1 oy i
. Nl+x-V1-
2 !‘m I = is equal to
ki (B)1 (©) %
N\ . VI+V2+x -3
(i/ ) !"HTZ' x_zx L is equal to
I 1
(A) —= B L
5 (B) V3 ol
\/4- L‘_’_’} u‘,/; ] (m and n integers) is equal to
(A)0 ®) 1 o
(5:/ If lim-z—j-;_——— mzquiaz =2 (where a € R"), then a is equal to -
- X—>a X + a —
1 1 1 /’
i, T, O
- . £n(sin3x) /
6. ll—':‘o ¢n(sinx) B gl 1o //
(A)0 B)1 ()22
7. f+x —\/—Zx is equal to
i x—oo X+ X
- i ©)1
(A) ] (B) )
U7+X -V3+x’ is equal to
x—bl x—]
‘ B) £ © =
A) 7 Be 4

(D) D.N.E.

@ 5

1
(D) 3B

(D) Non existent

(D) D.N.E.

D).~=




(n+l) —(n-1)"
/,,‘ "-M(n+l) T is equal to

(A)-1 (B) 0 ©1 (D) D.N.E.
100 - (x+1) +(x+120) +. - L+ +100)° 2 ual o

L X' +10 ‘

(A)1 (B) 100 (C) 200 (D) 10
_Lp/h’m (\/x —2x 1 —\/7 7x+3) is equal to [
"/‘/ X —=-0

5 5
@)= (B) 5 (C)0 (D) DN.E

12. If lim (\[2r12 +n-Av2ni-n ) - 7]._5 (where A is a real number), then-

A)r=1 B)A=-1 (C) A =21 D) € (o0, 1)
137 Let U, = 2), wheren & N.IFS, = 33U, then lim S, equals
(A)2 B)1 (C) 172 (D) Non existent

14. ForneN,let a, =22k and b, = Zn:(Zk—l). Then lim(+/a, — /b, ) is equal to-
k=1 k=1 =

1
(A1 B) 5 (©)0 (D)2
}/5. Let P, IEI( ] If lim P, can be expressed as lowest rational in the form %, then value
. =2 2 n—w
of (a+b)is
(A)4 (B)8 (C) 10 (D) 12
cos 2 —c0s2X

16, lim " is equal to

x=>-I|

(A)O (B) cos2 (C) 2sin2 (D) sinl
‘/ . [| —5sinx 6sin x ' : s
/ l‘ﬁ : - (where [.] denotes greatest integer function) is equal to -
x X X
(A)O (B)-12 O)1 (D)2
y Let f(x) ___[sinx]_{Zsin 2xT+....+[ IOsinle] (where [y] is the largest integer < y). The value of
g ik X X
lim f{x) equals _ 3 2
X—> ° A

(A)55 9  (B) 164 (C) 165 D) 375



5
19¢) Let f(x)= xz—mjx% If f(5%) & f(3") exists finitely and are not zero, then the value of (a + 1,

S
|t

22.

8

R

is (where {.} sepresents fractional part function) -

Lol (B) 10 ©) 11 (D) 20
2 (3:0)
l%lmS(smx(z )|t equals
-9 " 3 9
A) 5 (B) -23 © 3 (D) 5

Leta=min{x?+2x +3,xe R}and b= hm ;Ose Then value of Za b"

v | 2 4] gib=d

(A) =5 ®) <= O 55 (D) N.O.T.

Let BC is diameter of a circle centred at O. Point Aisa variable point,

moving on the circumference of circle. If BC =1 unit, then A=

lim B g

A-B (Area of sector OAB)* isequalto- A = = (
(A) 1 | (B) 2 \_/
©4 ’ (D) 16

llm x2=2x+1) | o
x> —4x+2 15 equiie

1
A1 ®)e GO e

liﬂ(l +sinx)®” is equal to

(A)0 ®)c ©! ™
hm(oosx +asin bx)" is equal to
(A) C (B) C (C) Cb (D) e
11_:3(tan(-}+ x)) is equal to

74 (B) E C
(A) € = ( ) e (D) ez

lim(4" +5")""" is equal to

n—o

(A)S ‘ (B) 4 , ©0 (D) DN.E.




>
el X—w

N (6 T b L Pl L
28. hm( ; J is equal to

4 ' I
(A)n! (B) 1 (C) - (D)0
)
. _X\m"(u) |
'29 If 11_1}1(2—- i =—, then A is equal to -
. X ) e
T 2
(A) - B) n © 3 (D) -—
30~ 0 If !grg (I +ax + bx?)* = ¢, then
_3 3
(A)a—~2— and beR (B)a=5and beR"*
(C)a=0andb=1 (D)a=1landb=0
Fan _ , B 7 TS :
Q,L If f(x) is a Qolynomlal of least degree, such that {lgg 1+"—‘x—2‘~ =¢", then f{2) is -
(A2 - (B) 8 (©) 10 (D) 12

; tan x o
; §;' Let f(X)= = then the value of lim ([ f (x)] +x2 )U(x)} is equal to (where [.], {.} denotes greatest

x—0
integer function and fractional part functions respectively) -
(A) e B)¢’ (C) & (D) non-existent

3«3{ lim——c———;;- equals -

-
v n

1
(A) 1 B) 5 ©e D) e
- a“
o . ’ \ ' 2f(tanx) . - zf(sin x) ) &L%\'l
347 I f(x) is odd linear polynomial with f(1) = 1, then lim ST 1
1 L
(A1 (B) (n2 (©) Eﬂn2 ' (D) cos2
Py 2 . w&/“
3\5'} “"3 x(l+acos¢3()—bsmx g ] W
W x—> X

(A)a=-5/2 (B)a=-3/2,b=—122 (C)a=-3/2,b=-5/2 (D)a=-5/2,b=-3/2



38. Consider fol lowing statements and identify correct options

8 ¢ 8
Hlllﬂ] —_— — . |
s ‘*4k\ -4 x- 4] lxl-ll}x_4 ,lt]l}}x_4

x’ +6x -7 lim(x2+6x-7)
\n, dﬂl =
x>l x? + 5% -6 llm(x2+5x—6)

x=—1

Xx-3 l\iﬂ}(X—:;)

L ‘*‘x +2x — 4_hm(x2+2x—4)

(v) If ilmf(x) =2 and l1m g(x)=0, then lim*~——= &) does not exist.

=5 g(x)
W If hm f(x)=0 and hm g(x)=2, then lnr; fg ; does not exist.
X—=>) O x
(A) Only one is true. (B) Only two are true.
(C) Only three are false. (D) Only two are false.
37. Which of the following limits equal to £
g 2
2 5 2
A) llm (_1-—+_1__ e 1 (B) lim 3x"  (2x I)(?:x2 +X+2)
\1.3 3.5 (2n-1)2n+1) xoa| 2x +1 4x
i dlitn (n+2)+(n+1)!
(C) |m (1+2+3+ ...... +n) (D) n—»w(n+2)!—(n+l)!
. . X2l axiza0,2
__ [sinx;where x=integer | B i it e lien
38¢ Let fix) =) . otherwise 8 5 v 5 ’
; X=

(A) limg(fe)=4 (B limf(g(x))=0 (©) limf(g(x))=0 (D) lim g(f(x))=5

x>  if xisrational
39. If f(x)= 0 if xisirrational

(A) lim £(x)=0
(C) lim f(x)=4

then
(B) lirré f(x) does not exist
(D) Ll_r'rll f(x) does not exist

. sin’o.—sin’P A
40, Let f(B)=lim ) , then f 7 | 1 greater than-

a—+fp

o 1-cos’ x B) lim cotx —cosx
s xsin2x x-n/2 (7 =2x)’

Ja+2x 3%
(&) lim(cos X+1 —cos\/;) (D) lx_n m 1 wherea >0




41.

43.

45.

sinx +ae* +be ™ +c¢l I
If e} LG has a finite limit L-as x — 0, then
g

atted. . S
(A)a=-7 (B) b= (C)c=0 E==%

N | —

Let = lim 2 (a > 0), then

K—bma +
(A)(=1Ya>0 B)L=-1Vae(0,1) (€)¢=0,ifa=1 (P)(=1Va>l1
[MATCH THE COLUMN TYPE]

For the function g(t) whose graph is given, match the entries of column-I to column-II

Columq | Column-II
(A) lim g(t)+1lim g(t) (P) limg(t) ) ¥
t—0 t—2" {—2 3 )
(B) :ILT g(t)+g2) (Q) does not exist \ g /
] 4
: = 3>
(€) tme(®) (R) 0 N
(D) lime() (S) limg()
Column-I Column-II
(A) rIli_,n;nsin(‘—:-;—)cos(;:%) is equal to P 0
I sinx® , Q l
B) lim——is equal to -
' T
(C) lim (—l————]——) is equal to (R) 7
x>0\ sinx tanx
| +cos2X . ©) T
(D) lim, (T-2)° is equal to 780
Column-I Column-II
(A) llm—%—(a > () can be equal to P) Llj’ll x(e'* -1)
x—® g
in(e*? — _ a*+b +c* -3
®) | zi‘l-“(?‘z-—l)‘—) is equal to @ limE T (wbo> 0&abe =)
x-2 |log(x —
. ({nx-1)e et o™
(©) llm(——-—-)— is equal to (R) lim
X—re X—e X—> X
@ lim 0D a0 ® 3
x—0 (] _COSX)4£I‘15 18 equa to )
' (T) 0



